SA: MepAd D
M MM SH(AMY - ZSAINLLHUN/ALEE - DEF)

Chel: Meratel TMA = (ctol:® e
£H-FH - A(SA) - NEAY - BHES Ofl &F <4 IRl Hus2
et Akt 42,382,809 34,586,809 7,796,000
)&ét&g,* SH(MY - ZAILLNEI/MLAE - DEF 42,329,150 34,533, 150 7,796,000

Metard XA = 13,670,250 11,174,250 2,496,000
Mg HESEAY BE S 1,037,000 1,247,000 A210,000

308 XtXI &R S0l & 995,000 1,205,000 210,000
11 B2 SOITHEZ A & 2 S A Y] 995,000 1,205,000 A210,000
OX% Saate JaNe XN T2HME 995,000 1,205,000 A 210,000
ADIERE 23 &t 608,500 702,500 A 94,000
308 XtXI S SO0l ™ 606,000 700,000 A94,000
11 B 2ASONTHEZ A X 2 S AFI Y] 606,000 700,000 A 94,000
OANESH E3 &t 606,000 700,000 A 94,000
ADIESAS JI8t 2E(2IEEFX ) 3,400,000 600,000 2,800,000
403 RHXISHH S R0 H 3,400,000 600,000 2,800,000
02 B 2SOICHEHXH= = 2 A 2,800,000 0 2,800,000
OO X B A AR AQGEEHE RE 2,800,000 0 2,800,000
AATH - OIHX M |4 24,958,900 23,158,900 1,800,000
1€ 012t 8t2 MIIX 28 2 AE X (2IEH 1,400,000 0 1,400,000
X&)
403 XX SHH SAHE Ol A 1,400,000 0 1,400,000
02 B 2SOICHEHXH2 = 2 AL 1,400,000 0 1,400,000
O1E 0I2 3t2 I 28 L A3 X 1,400,000 0 1,400,000
Al 2SI BES 2L T T2AHA WS (20t 400,000 0 400,000
NEXH)
403 RtXISHH SAHE 0l A 400,000 0 400,000
02 B 2SOl CHEHXH2 = 2 EF AL 400,000 0 400,000
OAl SHSHTIL HES L BT 2 A AN 400,000 0 400,000
MEFA MY SH 3,500,000 0 3,500,000
BIER FZ 0IUDILH 75 AY (2HAFXL) 3,500,000 0 3,500,000
308 XX & SO0l ™ 3,500,000 0 3,500,000
11 B 2SOITHEZ A X 2 S ALY 3,500,000 0 3,500,000
O3ER =2 0ILIIZH & ALY 3,500,000 0 3,500,000
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